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d(P, Q) =|P L QXIEEDFE| + |P L QDYIEEDE| Th 205,

(1)
P+ =x =g +ly-3 &b

Xx<0,y<0D L& —x—y=—x+1-y+3 0=4 . Fji&
x<0,0=y<3D L& —Xx+y=-—x+1-y+3 .y=2
X<0,3=yD L X —x+y=-x+1+y-3 0=-2 .. Tl
0=x<lLy<0D& X x—y=-Xx+1-y+3 x=2 .. f#
0=x<10=y<3D&&E X+y=-Xx+1-y+3 .y=2-X
0=x<13=yDL&E XxX+y=—Xx+1+y-3 x=-1 ..
1=Xy<0D Lt E x-y=x-1-y+3 0=2 .. ful
1=x0=y<3D L& x+y=x-1-y+3 .y=1
1=X3=yD& X x+y=x-1+y-3 0=-4 .. R

Pibkicky, ARo@EY,

(2)
x+4+]y=1=[x-1+|y-3 &V

X<-1Ly<lDOr& —x-1-y+1=—x+1-y+3 0=4 .. R
X<-1L1=y<3D L& —x-1+y-1=—x+1-y+3 y=3 i
X<-1,3=yDrE&E —x-1+y-1=—x+1+y-3 0=0 .. HIIHT
“1=x<ly<1lDE X x+1-y+1l=—x+1-y+3 x=1 .. ik
-1=x<11=y<3D L& x+1+y-1=—x+1-y+3 .y=2-X
-1=x<13=yD L& x+1+y-1l=—x+1+y-3 .. x=-1
1=xy<lD bt & x+1-y+1l=x-1-y+3 0=0 .. HITKL
1=x1=y<3D & & x+1+y-1=x-1-y+3 .y=1
1=x3=yDrE x+1l+y-1=x-1+y-3 0=—4 . . i
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